
Appendix 1

1. ZERO INFLATED POWER SERIES DISTRIBUTION

Al.l. Let Xl,X2,...,Xm be independently and identically distributed (iid) 

random variables (r. v.) with ZIPSD then,
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II. To find

Define, z„ =*
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2. ZERO INFLATED POISSON DISTRIBUTION

A1.2. Let Xl,X2,...,Xmbe iid r. v. with ZIPD then, 

i. E(m0) =m(l-K + &e~ff)
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'YdZij = mt - number of i’s.
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3 ZERO INFLATED NEGATIVE BINOMIAL DISTRIBUTION

A1.3. Let Xl,X2,...,Xm iid r. v. with ZINBD then, 

i. E(m0) = m§.-n + nQ~r).
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4. ZERO INFLATED BINOMIAL DISTRIBUTION 

A1.4. Let xitx2t...txm be iid r. v. with ZIBD then,

i. E(m0) =m{l-7r+ tt (!-$)”).
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